



3)

$$Y = C_0 + x C_1 + \frac{x^2}{2!} C_2 + \frac{x^3}{3!} C_3 + \frac{x^4}{4!} C_4 + \frac{x^5}{5!} C_5 + \frac{x^6}{6!} C_6 + \dots + \frac{x^n}{n!} C_n$$

$$Y = C_0 + (x^2 + x^3 + x^4 + x^5 + x^6 + x^7) C_1$$

$$Y = 0.0005 C_1 + 0.0005 (x^2 + x^3 + x^4 + x^5 + x^6 + x^7)$$

when $x = 5$

$$Y = 0.0005 C_1 + 0.0005 (5^2 + 5^3 + 5^4 + 5^5 + 5^6 + 5^7)$$

$$= 118.825 m$$

$x = 8$

$$Y = 0.0005 C_1 + 0.0005 (8^2 + 8^3 + 8^4 + 8^5 + 8^6 + 8^7)$$

$$= 1198.3725 m$$

$x = 10$

$$Y = 0.0005 C_1 + 0.0005 (10^2 + 10^3 + 10^4 + 10^5 + 10^6 + 10^7)$$

$$= 5555.5555 m$$

Matlab file

Command window

clear

ac

close all

$x = 0:0.01:10$

$Y = (0.0005 * C_1) + (C_1 * (x^2 + x^3 + x^4 + x^5 + x^6 + x^7) * 0.0005)$

$Y_n = Y$

Plot (x, Yn)

x label ('m')

Y label ('Deposition')

axis on

grid on

grid minor

②

assumed $x=0$

$$(Y^{(n+1)})_0 = (-n+0 + CY^n)(Cn^0 + 2n+1) \neq 0$$

$$-(CY^{(n+1)})_0 + (CY^{(n)})_0 = (Cn^0 + 2n+1) \neq 0$$

$$(Y^{(n+1)})_0 - (CY^{(n)})_0 = (CY^{(n)})_0 (Cn^0 + 2n+1)$$

$$(Y^{(n+1)})_0 = (CY^{(n)})_0 \frac{Cn^0 + 2n+1}{n+1}$$

$$(Y^{(n+1)})_0 = (CY^{(n)})_0 (n+1)$$

Recall $(Y^0)_0 = 0.0005$

$$(Y^{(1)})_0 = 0.0005$$

$n=0$

$$(Y^{(2)})_0 = (Y^0)_0 (0+1)$$

$$(Y^1)_0 = 1(Y^0)_0$$

$n=1$

$$(Y^{(3)})_0 = (Y^1)_0 (1+1)$$

$$(Y^2)_0 = 2(Y^1)_0$$

$n=2$

$$(Y^{(4)})_0 = (Y^2)_0 (2+1)$$

$$(Y^3)_0 = 3Y^2 = 3 \times 2(Y^1)_0 = 6Y^1$$

$n=3$

$$(Y^{(5)})_0 = (Y^3)_0 (3+1)$$

$$(Y^4)_0 = 4(Y^3)_0 = 4 \times 6(Y^1)_0 = 24(Y^1)_0$$

$n=4$

$$(Y^{(6)})_0 = (Y^4)_0 (4+1)$$

$$(Y^5)_0 = 5(Y^4)_0 = 5 \times 24(Y^1)_0 = 120(Y^1)_0$$

$n=5$

$$(Y^{(7)})_0 = (Y^5)_0 (5+1)$$

$$(Y^6)_0 = 6(Y^5)_0 = 6 \times 120(Y^1)_0 = 720(Y^1)_0$$

$n=6$

$$(Y^{(8)})_0 = (Y^6)_0 (6+1)$$

$$(Y^7)_0 = 7(Y^6)_0 = 7 \times 720(Y^1)_0 = 5040(Y^1)_0$$

Using Leibnitz Method theory

$$Y = (CY^{(0)})_0 + 2(CY^1)_0 + \frac{2^2(CY^2)_0}{2!} + \frac{2^3(CY^3)_0}{3!} + \frac{2^4(CY^4)_0}{4!} + \frac{2^5(5CY^5)_0}{5!} + \frac{2^6(6CY^6)_0}{6!} + \frac{2^7(7CY^7)_0}{7!}$$

Solution

$$x(x-1)y'' + (3x-1)y' + y = 0$$

Let

$$W_1 = x(x-1)y''$$

$$W_2 = (3x-1)y'$$

$$W_3 = y$$

for W_1

$$u = y^2$$

$$v = x(x-1) = x^2 - x$$

$$u' = 2y y'$$

$$v' = 2x - 1$$

$$u'' = 2y'' y + 2y'^2$$

$$v'' = 2$$

$$u''' = 2y''' y + 6y'' y' + 2y'^3$$

$$v''' = 0$$

for W_2

$$u = y'$$

$$v = 3x - 1$$

$$u' = y''$$

$$v' = 3$$

$$u'' = y'''$$

$$v'' = 0$$

for W_3

$$u = y$$

$$v = 1$$

$$u' = y'$$

$$v' = 0$$

Recall

$$y = \sum_{n=0}^{\infty} u_n v_n = \sum_{n=0}^{\infty} u_n (x^2 - x)^n + \sum_{n=0}^{\infty} u_n (3x - 1)^n + \sum_{n=0}^{\infty} u_n$$

$$y = y^{(2n+2)} \cdot (x^2 - x)^n + n y^{(2n+1)} \cdot (x^2 - x)^{n-1} + n(n-1) y^{(2n)} \cdot (x^2 - x)^{n-2} + \dots + (y^{(n+1)}) (3x - 1)^n$$

$$+ n y^{(n)} \cdot 3 + n(n-1) y^{(n-1)} \cdot 0 + y^{(n)} \cdot 1 + n y^{(n-1)} \cdot 0$$

$$= (x^2 - x)^n (y^{(2n+2)}) + n(x^2 - x)^{n-1} (y^{(2n+1)}) + n(n-1)(x^2 - x)^{n-2} (y^{(2n)}) + (3x - 1)^n (y^{(n+1)}) + n(3y^{(n)}) (y^{(n)})$$

$$+ (x^2 - x)^n (y^{(n+2)}) + (y^{(n+1)}) \cdot (n(x^2 - x) + (3x - 1)) + (y^{(n)}) \cdot (n(n-1) + 3n + 1)$$

$$= (x^2 - x)^n \cdot (y^{(n+2)}) + (y^{(n+1)}) \cdot (2n(n-1) + 3x - 1) + (y^{(n)}) \cdot (n^2 - n + 3n + 1)$$